Monday, March 06, 2017
ALL  MY  SONS  by Arthur Miller  (questions and answers from the Bagrut tests including Winter 2013)

Read the quotes and answer the questions (a-e).

Kate to George: "You had big principles, Eagle Scouts the three of you; so now I got a tree, and this one (indicating Chris) when the weather gets bad he can't stand on his feet; and that big dope (pointing to Lydia's house) next door who never reads anything but Andy Gump has three children and his house paid off." 

a.   CIRCLE THE CORRECT ANSWER.

   What "principle" is Kate talking about in this quotation?

   (1)  Taking care of your own family first.

   (2)  Fighting for something you believe in.

   (3)  Working hard to reach your goals.

   (4)  Giving your children a good education.

ANSWER:  (2)  Fighting for something you believe in.                      (5 points) 

b.  When Kate says "now I got a tree" she means that .........................................

ANSWER:    ... her son Larry is missing and all she has is this tree planted in his memory.             (5 points)

Kate to George: "You don't hate us, George, I know you, you can't fool me, I diapered you."

c. What is Kate trying to achieve in this conversation with George? Write about 40-50 words.

Answer: Kate is trying to remind George about his warm relationship with the Keller family when he was a child and that despite everything that happened he is still a friend of the family. She wants him to stay loyal to the Kellers and not cause trouble about the cylinder heads court case.                                  (10 points)

George: "I'd remember pneumonia. Especially if I got it just the day my partner was going to patch up cylinder heads. ... What happened that day, Joe?"

d. Why is this statement by George an important turning point in the play?

Make use of ONE of the thinking skills from the Appendix (נספח) at the end of the test.   Write about 40-50 words.

Thinking skill I chose: .....................................................................................

ANSWER: .........................................................................................................                               (10 points)

Possible thinking skills: Uncovering Motives / Parts and Whole / Sequencing

Any other thinking skills are acceptable as long as they are supported by the text and can be explained in question e.

Possible information that can be adapted according to the thinking skill chosen:

This statement is a turning point in the play.

– Until now the audience believed that Keller was innocent.

– We now understand why Keller didn't come into the factory that day.

– We now understand why Kate refuses to accept the fact that Larry is dead.

– George has proof that his father's story about the cylinder heads court case is true. He now knows that

   Keller was lying about the day the cylinders were repaired.

– We begin to understand Kate's motive for trying to make George forget what his father told him.

– We can now understand why Keller kept reminding George about the times Steve refused to take

   responsibility.

e.  Explain why you chose that particular thinking skill to answer question d.  (5 points)

ANSWER: .........................................................................................................                            

Possible explanations for thinking skills:

Uncovering Motives:

From the information we are given at this point in the play we can begin to understand the motive for  Kate's behavior in this scene and in the rest of the play and for Keller's behavior from the beginning.

Parts and Whole:

Because of the previous scenes hinting at Joe's guilt, this scene helps us make sense of the different clues given in Acts I and II and understand the whole truth about Joe's responsibility for shipping  the defective cylinder heads.

Sequencing:

The audience is only now given information that Joe and Kate have had all along. The author has held it back so that we experience it as a shock as Chris did.
a. How does the family find out the truth about Larry's death?                   (5 points) 

ANSWER:

At the end of Act III Chris reads to Joe the letter Larry wrote to Ann during the war, in which he told her that he was going to kill himself by crashing his plane.

b. Why did Larry commit suicide?                                  (5 points)

ANSWER: 

Larry committed suicide because he could not cope with the knowledge that his father had sent defective airplane parts to the Army. These defective parts caused planes to crash and killed 21 pilots.

c.  Keller: "Sure, he was my son. But I think to him they were all my sons."

What does Keller mean by this statement about Larry?   (10 points)

ANSWER: 

Joe understands what Larry was trying to tell him through his suicide, that not only do you have a responsibility to yourself and your family, but that you must also take responsibility for others. Joe should have considered the lives of the other boys to be as important as his own son's life. He should have understood that we are all part of society  and we have responsibility to others.

d.  (1)  "Like father like son" is a popular saying, which means that a son is often  similar to his father. Do you think this is true about Chris and his father?   

Explain.                                                (10 points)

 Thinking skill I chose: ...............................................................................

ANSWER: 

Possible thinking skills: Comparing and contrasting /  Different perspectives 

Any other thinking skills are acceptable as long as they are supported by the text and can be explained in question d 2.

Possible information that would be adapted according to the thinking skill chosen:

In some ways Chris is not at all like his father. Joe Keller is a practical man who has worked all his life to build a business and is even willing to commit a crime to save it. He believes that family is the only thing that matters. Chris, on the other hand, is an idealist who believes we also have a responsibility to others.

However, there are similarities between Joe and Chris. Both often "ignore what they gotta ignore": Joe ignores his involvement in the crime and Chris ignores, or denies, that his father might have committed a crime. In addition, Chris has accepted his father's belief that making money is the way a man shows love for his family.

(
2)  Explain why you chose that particular thinking skill to answer question d(1). (5 points)

ANSWER:

Possible explanations for thinking skills:  

Comparing and contrasting: In order to answer this question I had to examine the values of the father and son, in order to see if the son is similar to the father or different.

Different perspectives: In order to answer this question I had to examine the differences between the attitudes and values of Keller and Chris.

e. Jim: "Money-money-money. You say it long enough it doesn't mean anything."

   Discuss the role of money in the play from the perspective of TWO characters.                                (15 points) 

ANSWER:

The role of money is central to All My Sons. The idea of going from rags to riches is part of the American Dream and is one of the themes in the play. Joe Keller is proud that he is financially successful, that he has built up a successful business and that he has even managed to enlarge the business after the war. He says that he has done this so that his 

family will have everything it needs (i.e., Kate has a maid to help her at home) and he plans on leaving the business to Chris. Chris, however, has another view of money; he does not want money for its own sake; he is more idealistic. Jim and his wife Sue also have opposing views about money; Sue wants her husband to make as much money as possible, even to the extent of going to visit patients who are not ill in order to get fees, while Jim would be quite happy doing research and not earning so much. The play wants us to look at the role of chasing after money in life and see its destructive effect on ideals and human values.

3.  ALL  MY  SONS / Arthur Miller    

Read the quote and answer questions a-c 

Jim: "In a peculiar way, Frank is right – every man does have a star. The star of one's honesty. And you spend your life groping for it, but once it's out it never lights again."

a. What is Jim referring to in this quote?                              (5 points) 

    (i)  How Chris will deal with his father's crime.

   (ii)  Chris's worries about his mother.

   (iii)  Chris's decision to marry Ann.

   (iv)  How Chris will react to Larry's letter. 

ANSWER: 

a.  (i)   How Chris will deal with his father's crime. 

b. Many characters do not tell the truth in this play. Mention ONE character who is lying and the lie he or she is telling.

ANSWER:     (5 points)

Possible answers:

Joe is lying by not admitting his guilt in the cylinder heads incident. // Mother is lying when she says that Keller was sick on the day the cylinder heads were sent.// Chris / Joe is lying when he doesn't tell Mother he believes Larry will never return. // Chris is lying to Ann when he tells her that the case has been forgotten by the neighbors. // Ann is lying when she does not reveal the truth about Larry's death. // Jim is lying by not telling Mother and Joe that he has known for a long time that Joe is guilty.

c. This play shows the destructive effects of dishonesty. Discuss this statement in relation to one of the main characters in the play.                                   (10 points)

ANSWER:

Possible answers:

Joe: Joe's lie about the cylinder head incident has resulted in his son, Larry's, suicide. He has also ruined his relationship with Chris and put his wife in an impossible moral situation. Moreover, he betrayed his partner Steve Deever which led to Deever's imprisonment. In the end, his guilt drives him to commit suicide.

Chris: Chris is very upset by the news of his father's guilt. He hates himself for refusing to see the truth and feels he has no right to marry Ann because of his father's crimes. Chris will probably never overcome his sense of shame and guilt of how his inability to face the truth has ruined Ann's family and prevented his father from getting 

the punishment he deserves.

Mother: Mother must be a part of Keller's cover-up of the crime and lie in order to protect him and her family. This forces her to pretend that Larry is still alive or else for her it means that his father killed him, which is too much for her to deal with. As a result of this, she does not want Chris to marry the girl he loves.

George: George feels very guilty for never visiting his father in jail, because he believed Joe's lie that he was innocent and only Steve was guilty. George is determined to expose the truth now that he has finally gone to visit his father, but he will never be able to forgive himself for treating his father so cruelly and unjustly.

d.  (1)  Choose  TWO  characters with conflicting approaches to life. Describe their approaches.                   (10 points)

Thinking skill I chose: ..........................................................................

ANSWER:

Possible thinking skills: Comparing and contrasting /  Different perspectives

Any other thinking skills are acceptable as long as they are supported by the text and can be explained in question e.

Possible information that would be adapted according to the thinking skill chosen:

Keller / Chris: Keller's approach to life is a practical one: he will do whatever it takes to help his and his family's interests, even though his actions may not be moral. Chris, on the other hand, is an idealist and cannot accept his father's actions. He sees the bigger picture and refuses to harm others for his own benefit.

George / Frank: George is an idealist. He went to war in order to fight Hitler and was ready to sacrifice himself. Frank, on the other hand, managed to stay out of the army. He was always one year ahead of the draft and never volunteered. His attitude in life is to take care of himself first, to be practical.

Jim / Sue: Jim and his wife do not have the same values. Jim is not motivated by the desire to make money. Instead of being a regular doctor, he would rather do medical research, which pays less but would give him more satisfaction. On the other hand, his wife Sue is materialistic and pressures him into taking on additional patients.

(2)  Explain why you chose that particular thinking skill to answer question d (1).  (5 points) 

ANSWER:

Possible explanations for thinking skills:  

Comparing and contrasting: In this question I compared and contrasted the approaches of two of the characters in terms of their attitudes towards life, their values and their goals.

Different perspectives: In this question I examined two characters in the play to see how their attitudes towards life, their values and their goals differed. 

e.  In the play several characters face a conflict in which they are forced to choose between loyalty to their families, on one hand, and to themselves or their principles, on the other hand.

(1)  Show how this conflict is reflected in TWO characters in the play.                    (7 points)

ANSWER:

Possible information:

•    Chris must choose between his loyalty to his father and his desire not to work in his father's business which "doesn't   inspire him."

•    Ann faces a confict when she must decide whether to visit her father in jail. Despite the fact that he is her father, she rejects him completely and refuses to visit him in jail because of her anger and disgust at his actions in the cylinder      heads case.

•    George faces the same conflict as Ann.

•    Jim must choose between his family responsibilities which call on him to make a good living for his wife and kids, and his desire to do medical research which pays much less but which is what he really wants to do in life.

•    Once Chris finds out his father gave the order to send out the defective cylinder heads and was guilty after all, he must decide whether or not to turn his father in.

(2)  What are the similarities and/or differences in the ways these two  characters resolve their conflicts?         (8 points)

ANSWER:

Possible information:

•     For years George and Ann cut off contact with their father. However, George's guilt over this causes him to eventually go visit his father in jail, but Ann wants to have nothing to do with her father. Even after she fnds out that Joe is guilty and framed her father, she doesn't change her mind. Ann wants to get married and for her this is more important than loyalty to her father.

•    Chris and Ann face the same conflict but solve it in completely different ways. Chris stays loyal to his father, while Ann rejects her father completely. Chris believes his father is innocent while Ann accepts the verdict of the court that her father was guilty.

•    Chris, once he knows his father is guilty, is unable to live with this fact and eventually decides to turn his father in, while Ann, who finds out that her father was framed by Chris's father, is able to live with this fact and not go to the police. She wants to get married.

•    For both Chris and Jim loyalty to family is the most important thing: Jim comes back from New Orleans to Sue and to his career as a medical doctor; Chris works in his father's business. The difference between them is that Chris would not work in his father's business if he knew his father was guilty, while Jim probably could. Jim is ready to make compromises but Chris is not.

ALL  MY  SONS / Arthur Miller

11.  Chris tells Joe that they made a terrible mistake with Mother by "being dishonest with her". How have they been dishonest?     (5 points)

ANSWER:

By not telling her they believe Larry is dead // They let her think that they also believe Larry is coming home.

12.  George tells Chris: "When you make suckers out of people once, you shouldn't try to do it twice." 

What are the TWO  times he is talking about?   (5 points)

ANSWER:

a.   The first time is when Keller framed his father, Steve.    

b.   The second time would be if Chris married Annie. 

13.  In Act III Jim says to Mother: "The compromise is always made."    

According to the play, is compromise a necessary part of life? In your answer relate to ONE character in the play.

ANSWER:             (10 points)

One possible answer can be:

Yes, compromise is a necessary part of life. You can't live just according to your ideals. Living involves difficult choices. Jim, for example, had no choice but to go back to Sue if he wanted to stay married. / Ann was forced to make a choice between Chris and her father at the end of the play and chose Chris. / Chris would have liked not to work in the family business but had to compromise in order to please his father. / Mother had to keep quiet about Joe's crime in order to protect him. The only one who didn't compromise was Larry, and he committed suicide.

Another possible answer can be:

No, compromise is not a necessary part of life. People compromise because they are weak, don’t want to hurt the people they love or don't have the courage to do what is right or what they really want to do, but it doesn't have to be this way. Chris didn't have to work in his father's business. He paid a high price by feeling frustrated and unhappy in his job./ Jim could have stayed in New Orleans and left Sue, but chose to return to her and is a bitter, unhappy man / Mother could have turned Joe in but chose to protect him, but is troubled as a result. In fact, people pay a high price by compromising and would be better off not compromising.

Another possible answer can be:

This question can't be answered yes or no. It depends on the character in the play. Sometimes the character has to pay too high a price; sometimes the person has no choice. Mother, for example, had no choice but to compromise because she had to protect her husband. Chris, on the other hand, did not have to work in his father's business but didn't have the heart or the courage to stand up to his father. / Jim, on the other hand, did not have the courage or the heart to leave his wife although he probably should have, because going back to Sue has made him a bitter and unhappy man.

14.  a.  Kate: "There's something bigger than the family to him."

             Joe: "Nothing is bigger."

Give ONE example of how Chris's behavior throughout the play reflects his struggle with these different beliefs.

Thinking skill I chose: ..............................................................................            (10 points)

ANSWER:

Possible thinking skills: Distinguishing different perspectives/ Explaining cause and effect

Any other thinking skills are acceptable as long as they are supported by the text and can be explained in question 14.b.

Possible information that would be adapted according to the thinking skill chosen:

Throughout the play Chris struggles between his loyalty to his father and his desire to do the right thing. He doesn't want to be in the family business but stays there because that's what his father wants. / He wants to marry Ann but doesn't do anything about it for a long time because this could hurt his mother. / After he finds out his father is guilty he wants to turn him in but can't bring himself to do it because it's his father. 

b.  Explain why you chose that particular thinking skill to answer question 14a.    (5 points)

ANSWER: 

Distinguishing different perspectives: I chose this thinking skill because Chris's problem is that he can see things from both perspectives: the importance to family and the importance of doing what makes you happy. This is why he struggles.

Explaining cause and effect: I chose this thinking skill because I had to think of the effect that Chris's decisions had on him. 

15.  Compare and contrast the attitudes of George Deever and Joe Keller to George's father, Steve.    (15 points)

ANSWER:

On the one hand, George and Joe Keller see Steve Deever very differently. We know that George, like his sister Ann, did not visit his father in jail because of the crime Steve had committed. Joe Keller is shocked by this; he believes Steve Deever made a mistake but is no criminal – "see it human, see it human" – and that his children must forgive him because he is their father. Family is the most important thing. For George, values, ideals, morality, are more important.

On the other hand, George and Joe see Steve in a similar way. George sees his father as a weak man who can't make decisions on his own ("that frightened mouse who never bought a shirt without having someone along"). Joe also sees Steve as a weak man who sent the cylinder heads because he couldn't deal with the pressure from the Army: "a little man….afraid of loud noises." 
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11.  Sue says she does not want Ann and Chris to live near them after they marry because (–).

   (i)  Chris and Jim have never been close friends

   (ii)  Chris might influence Jim to go into research 

  (iii)  she is jealous of their relationship 

  (iv)  Ann's father, Steve, is a criminal                                  (5 points)

ANSWER:  ii)  Chris might influence Jim to go into research.

12.  Why were Joe and Steve put in jail?     (5 points)

  ANSWER: 

Joe and Steve were put in jail because they were convicted of selling defective airplane parts to the army (which resulted in the deaths of 21 pilots.)

Deduct 60% if answer does not include mention of army, war and / or defective plane parts.

Deduct 40% if answer refers to only one character.

13.  George arrives at the Keller home wearing his father's hat. What is the   significance of this?                     (10 points)

ANSWER:

He is wearing his father's hat because his father asked him to wear it and he wants to show that he is standing up for his father.

• For over three years, since his father has been in jail, he hasn't spoken to his father. Now he has visited him, made his peace with him and he believes his father's version of the events. 

• His father is a weak man with no voice of his own.   

14.  a.  Chris says in Act III: "The cats in the alley are practical, the bums who ran away when we were fighting were practical. Only the dead ones weren't practical."            

Can Chris be seen as a practical person? Explain.                                               (10 points)

Thinking skill I chose: ..............................................................................

ANSWER:

a. Possible thinking skills: Comparing and contrasting / Distinguishing different perspectives / Inferring / 

     Explaining cause and effect / Explaining patterns / Problem solving 

Possible information that would be adapted according to the thinking skill chosen:

Chris can be seen both as an idealistic and practical person. Pupils can choose either side or take some ideas from one side and some from the other. 

Idealistic:

•
 He believes in certain ideals about people's responsibilities to others. 

•
 He can't continue living in the Keller home once he fnds out his father is guilty. 

•
 After reading Larry's letter, he is willing to take his father to the police so that his father will pay for the crime he committed.

Practical:

•
 He works in his father's business, a business that was responsible for causing the death of 21 pilots even though somewhere he knows that his father might be guilty.

•
 When he fnds out his father is guilty, he says that he wants to run away because he cannot face his father and it will serve no purpose to take him to jail. 

Chris changes from being idealistic to being practical and then back to being an idealist again at the end.

Do not accept answers which only state that Chris is or isn't practical with no examples / explanations.

Do not accept answers which misuse the meaning of 'practical'.

Do not accept answers which imply Chris is alive because he is practical.

b.  Explain why you chose that particular thinking skill to answer question 14a.

    Your answer must refer specifically to the text.      (5 points)

ANSWER:

Possible explanations for thinking skills:

Comparing and contrasting:  I chose this HOTS because I had to compare and contrast my idea of what a practical and/or idealistic person is with the way Chris behaves.     

Distinguishing different perspectives: I chose this HOTS because in answering this question I showed my perspective of Chris changed at different points in the play.

Inferring: I chose this HOTS because I needed to infer what makes a person practical and / or idealistic and relate these conclusions to Chris.

Explaining cause and effect: I chose this HOTS because I had to decide if Chris's actions and decisions made him behave as a practical and/or an idealistic person.

Explaining patterns: I chose this HOTS because I had to think of the patterns of behavior that make a person practical and/or idealistic and whether or not they applied to Chris. 

Problem solving: I chose this HOTS because I had to determine whether the way 

Chris tried to deal with his situation, e.g. leaving the factory once he learned of his father's guilt, meant that he was a practical and/or an idealistic person.   

15.  Evaluate Ann's character in light of her behavior in Act III.                                  (15 points)

ANSWER: 

Ann can be seen both as a positive and negative person. Pupils can choose either side or take some ideas from one side and some from the other.

•
 Ann is courageous, strong, determined, stubborn, loyal and fnally honest in Act III. 

•
 Throughout the play we see that she tries to do the right thing (including refusing to have any contact with her father because she believes he was guilty).

•
 Until Act III she tries to protect the Kellers from the truth about Larry.

•
 Only in Act III, when her happiness is in danger, does she put herself first (even though she knows how much the knowledge of the letter will hurt Kate). 

•
 Love is the most important thing for her and in Act III it is her love for Chris that gives her the strength to stand up to Kate. Ann also is fnally strong enough to say that she is going to be with Chris wherever he chooses to go. 

•
 Ann is revealed as a hypocritical, selfsh character in Act III. She shows that principles and ideals matter much less to her than her own happiness. Because she wants to get married, she is ready not to say anything about  Joe's guilt and to let her father remain in jail, if Mother is ready to tell Chris that she "frees" him to marry Ann. 

•
 In Act III we see that Ann is a moral but a practical person. She loves Chris and wants to get married; therefore, she makes a wise and practical deal with Mother to "release" Chris in return for Ann's silence on Joe's guilt.    

ALL  MY  SONS / Arthur Miller

  16Why does Mother [Kate] want Frank to make up Larry's horoscope in Act I?     (5 points)

ANSWER:

She wants Frank to find out if the day Larry went missing is a favorable/lucky day for him (according to his horoscope) // to find out if it's possible that Larry is alive.  

Answer must contain one of the following elements: proof that Larry is alive OR a favorable day. 

  17In Act III, Ann wants to make a deal with Mother [Kate]. What deal does she want to make?    (5 points)

ANSWER:

She will not reveal what she now knows (that Keller is guilty in the cylinder heads case) if Mother agrees to her marriage with Chris / if Mother tells Chris she knows Larry is dead. 

DO NOT ACCEPT if answer contains only one side of the deal (e.g. "Ann won't tell anyone the truth about Joe")

DO NOT ACCEPT if one side of the deal is correct but the other is incorrect (e.g. "The deal Ann wants to make is that she won't marry Chris if Kate will admit that Larry is dead")

  18What does Joe Keller mean when he says "a father is a father "?     (10 points)

ANSWER:

Possible answers:

He means that a child should be loyal to his/her father no matter what the father has done. // He means that the connection between father and child is the strongest connection that there is. // He means that Ann should forgive her father no matter what he's done. // He means that he hopes Chris will forgive him if he ever fnds out that Joe was responsible for sending out the defective cylinder heads.

Answer must relate to children's attitude towards their father and not to a father's attitude and responsibility towards his children.  If relate only to father's attitude = 0.  

If add father's attitude to a correct answer, deduct 20%.

19 a.  At the end of the play Joe says: "... if Larry was alive he wouldn't act like this. He understood the way the world is made. He listened to me."
How has Joe misunderstood Larry?  Explain.      (10 points)

Thinking skill I chose: ..............................................................................
ANSWER:

Possible thinking skills:  

Comparing and Contrasting / Distinguishing different perspectives / Explaining cause and effect / Inferring

Any other thinking skills are acceptable as long as they are supported by the text and can be explained in question 19b.

Possible information that would be adapted according to the thinking skill chosen: 

Joe always thought that Larry was the practical son who understood that in business you can't always be ethical or honest. But Joe was wrong. Larry was not able to accept his father's lack of ethics and honesty and in fact killed himself because he couldn't accept this.

b.  Explain why you chose that particular thinking skill to answer question 19a.
    Your answer must refer specifically to the text.   (5 points)

ANSWER:

Possible explanations for thinking skills: 

Comparing and contrasting: I chose this HOTS because I compared the idea that Joe had of Larry to the way he really was.  

Distinguishing Different Perspectives: I chose this HOTS because I had to look at Joe's perspective of Larry and compare it to the way Larry really was.

Explaining cause and effect: I chose this HOTS because I showed that Larry's suicide – the cause – had the effect of proving how wrong Joe was about Larry.

Inferring: I chose this HOTS because we are not told that Joe misunderstood Larry but must infer it from Larry's actions.

20In the middle of Act II, Keller, Chris and Ann discuss Steve.
      Keller: "... I like you and George to go to him in prison and tell him...   'Dad, Joe wants to bring you

                   into the business when you get out.'
      Ann:     You'd have him as a partner?
      Keller:  No, no partner. A good job..."
a.  Why does Joe say he wants to offer Steve a job when he gets out of jail?   (7 points)

ANSWER:

a.  Joe says that he wants to offer Steve a job when he gets out of jail because he thinks if Steve comes out of jail angry and bitter he will make problems for Ann and Chris when they get married. // Joe says that he is doing it for Ann and Chris's future together. If he offers Steve a job, Steve will be less angry at the Kellers. 

b.  What other motive might Joe have that he does not admit to?     (8 points)

ANSWER:

• Joe is afraid that Steve will reveal the truth about Joe's guilt when he gets out of jail.  If Joe gives him a job, Steve is more likely to keep quiet (because he will have something to lose). 

• Joe feels guilty that he cheated Steve and is trying to make it up to him in some way by offering him a job.

ALL  MY  SONS / Arthur Miller

  16Why does Mother [Kate] want Frank to make up Larry's horoscope in Act I?     (5 points)

ANSWER:

She wants Frank to find out if the day Larry went missing is a favorable/lucky day for him (according to his horoscope) // to find out if it's possible that Larry is alive.  

Answer must contain one of the following elements: proof that Larry is alive OR a favorable day. 

  17In Act III, Ann wants to make a deal with Mother [Kate]. What deal does she want to make?    (5 points)

ANSWER:

She will not reveal what she now knows (that Keller is guilty in the cylinder heads case) if Mother agrees to her marriage with Chris / if  Mother tells Chris she knows Larry is dead. 

DO NOT ACCEPT if answer contains only one side of the deal (e.g. "Ann won't tell anyone the truth about Joe")

DO NOT ACCEPT if one side of the deal is correct but the other is incorrect (e.g. "The deal Ann wants to make is that she won't marry Chris if Kate will admit that Larry is dead")

  18What does Joe Keller mean when he says "a father is a father "?     (10 points)

ANSWER:

Possible answers:

He means that a child should be loyal to his/her father no matter what the father has done. // He means that the connection between father and child is the strongest connection that there is. // He means that Ann should forgive her father no matter what he's done. // He means that he hopes Chris will forgive him if he ever fnds out that Joe was responsible for sending out the defective cylinder heads.

Answer must relate to children's attitude towards their father and not to a father's attitude and responsibility towards his children.  If relate only to father's attitude = 0.  

If add father's attitude to a correct answer, deduct 20%.

19 a.  At the end of the play Joe says: "... if Larry was alive he wouldn't act like this. He understood the way the world is made. He listened to me."
How has Joe misunderstood Larry?  Explain.      (10 points)

Thinking skill I chose: ..............................................................................
ANSWER:

Possible thinking skills:  

Comparing and Contrasting / Distinguishing different perspectives / Explaining cause and effect / Inferring

Any other thinking skills are acceptable as long as they are supported by the text and can be explained in question 19b.

Possible information that would be adapted according to the thinking skill chosen: 

Joe always thought that Larry was the practical son who understood that in business you can't always be ethical or honest. But Joe was wrong. Larry was not able to accept his father's lack of ethics and honesty and in fact killed himself because he couldn't accept this.

b.  Explain why you chose that particular thinking skill to answer question 19a.
    Your answer must refer specifically to the text.   (5 points)

ANSWER:

Possible explanations for thinking skills: 

Comparing and contrasting: I chose this HOTS because I compared the idea that Joe had of Larry to the way he really was.  

Distinguishing Different Perspectives: I chose this HOTS because I had to look at Joe's perspective of Larry and compare it to the way Larry really was.

Explaining cause and effect: I chose this HOTS because I showed that Larry's suicide – the cause – had the effect of proving how wrong Joe was about Larry.

Inferring: I chose this HOTS because we are not told that Joe misunderstood Larry but must infer it from Larry's actions.

20In the middle of Act II, Keller, Chris and Ann discuss Steve.
      Keller: "... I like you and George to go to him in prison and tell him...   'Dad, Joe wants to bring you

                   into the business when you get out.'
      Ann:     You'd have him as a partner?
      Keller:  No, no partner. A good job..."
a.  Why does Joe say he wants to offer Steve a job when he gets out of jail?   (7 points)

ANSWER:

a.  Joe says that he wants to offer Steve a job when he gets out of jail because he thinks if Steve comes out of jail angry and bitter he will make problems for Ann and Chris when they get married. // Joe says that he is doing it for Ann and Chris's future together. If he offers Steve a job, Steve will be less angry at the Kellers. 

b.  What other motive might Joe have that he does not admit to?     (8 points)

ANSWER:

• Joe is afraid that Steve will reveal the truth about Joe's guilt when he gets out of jail.  If Joe gives him a job, Steve is more likely to keep quiet (because he will have something to lose). 

• Joe feels guilty that he cheated Steve and is trying to make it up to him in some way by offering him a job.

WINTER 2015 F EXAM

LOTS

1)      Why is it important for Frank to prove that November 25th was a favorable day for Larry? It was the day (-) ( points)

a)      he was going to marry Ann

b)      he was born

c)      he was reported missing

d)      he joined the army

2)      At the beginning of Act III, Jim says to mother, “Don’t be afraid, Kate, I know. I’ve always known.” Jim has always known that (-) (5 points)

a)      Chris wants to marry Ann

b)      Larry died in the war

c)      Joe is guilty of the crime

d)      Kate dreams about Larry

3)      In Act I Chris says to Joe, “You have such a talent for ignoring things.” Joe answers, “I ignore what I gotta ignore.” Why does Joe need to ignore things? Give information from the play to support your answer. (10 points)

3)      What is the conflict between the Deever and Keller families in the play? Give information from the play to support your answer. (10 points)

HOTS

1)      Each female character in the play has an important role. Choose ONE of the following characters and discuss her role: Kate, Ann, Sue. Give information from the play to support your answer. (15 points)

ALTERNATIVE QUESTIONS

1)      At the end of Act I, Kate says, “Be smart now, Joe. The boy is coming, be smart.” What can we infer from this quote? Give information from the play to support your answer. (8 points)

2)      How does the phone call from George at the end of Act I influence Keller’s behavior towards Chris? Give information from the play to support your answer. (7 points)





Moed Bet 2014 F Exam
 LOTS
1. Name ONE thing Kate does to make George feel at home when he comes to visit. (5 points)

2. How has George’s attitude towards the Kellers changed since he visited his father? (5 points)

3. Jim: “I’ve only met you, Ann, but if I may offer you a piece of advice – When you marry, ever – even in your mind – never count your husband’s money.” What can we understand about Jim’s relationship with his wife Sue from the above quote? Give information from the play to support your answer.  (10 points)

4. .Jim: “Frank is right – every man does have a star. The star of one’s honesty… He probably Just wanted to be alone to watch his star go out.” Mother: “Just as long as he    comes back.” Jim: “I wish he wouldn’t.” Why does Jim wish Chris wouldn’t come back? Give information from the play to support your answer (10 points).

 HOTS
1. In Act I Kate says “it was too soon to plant a tree for him [Larry].” Why do Kate and Chris disagree about this? Give information from the play to support your answer.

ALTERNATIVE QUESTIONS
1. At the end of Act II Chris says to Keller: “I was dying every day and you [Joe] were killing my boys and you did it for me?”  What does Chris want his father to understand? (7 points)

2. When Chris realizes that his father has committed suicide, he says “Mother, I didn’t mean to –” Mother answers, “Don’t dear. Don’t take it on   Forget now. Live.”  How has Kate’s perspective changed at the end of the play? Give information  from the play to support your answer.  (8 points)





Summer 2014 F Exam
 LOTS
1. The tree is important for the play because (–).(5 points)

i) it was planted in Larry’s memory

ii) it had been in the yard for years

iii) it was planted by Chris

iv) Kate asked her family to plant it

2. Why has Ann come to visit the Kellers? (5 points)

3. In Act I, Chris says to his parents,”… We’re like at a railroad station waiting for a train that never comes in.” What does Chris mean by this? Give information from the play about TWO characters to support your answer. (10 points)

4. How do Chris’s values change from the beginning to the end of the play? Give information from the play to support your answer. (10 points)

HOTS
1. Money is a central theme in the play. Discuss this theme as it relates to ONE of the following characters: Joe, Sue, Jim. Give information from the play to support your answer. (15 points)

ALTERNATIVE QUESTIONS
1. In Act I, Kate says, “There’s no jail here! I want you to stop that jail business!”. Why doesn’t Kate want Joe to talk about jail? Give information from the play to support your answer. (7 points)

2. “Kid, walkin’ down the street that day I was guilty as hell. Except I wasn’t, and there was a court paper in my pocket to prove I wasn’t…”. What can we infer about Joe from this behavior? Give information from the play to support your answer. (8 points)





Winter 2014 F Exam
 LOTS
1. At the beginning of the play, Kate says, “… everything decided to happen at the same time.” Which of the following happened? (5 points)

 (i) Steve got out of jail.

 (ii) Jim went to New Orleans.

 (iii) Larry’s tree blew down.

 (iv) Joe sold the business.

2. Ann has come to visit because she wants (–).(5 points)

 (i) to see her father

 (ii) to move back into her old house

 (iii) to find out the truth about Larry

 (iv) to marry Chris

3. Before George arrives, Joe says to Ann, “… why should he [George] knock himself out in New York with that cut-throat competition, when I got so many friends here; I’m very friendly with some big lawyers in town.”  Why did Joe say this? Give information from the play to support your answer.

 HOTS

 After George arrives, Mother says, “Honest to God, it breaks my heart to see what happened to all the children.” Relate this quote to at least ONE of the following characters: Chris, George or Ann. Give information from the play to support your answer.

 ALTERNATIVE QUESTIONS

1. Compare and contrast Joe’s view of Chris with Joe’s view of Larry. (7 points)

2. How is Joe mistaken in his view of either Larry or Chris? Give information from the play to support your answer. (8 points)





Moed Bet 2013 F Exam
 LOTS

1. George says about Steve, “He’s like that now. He’d like to take every man who made money in the war and put him up against a wall.” How has Steve changed? (5 points)

 (i) He now understands what they did wrong during the war.

 (ii) He knows that he shouldn’t blame Keller.

 (iii) He is sorry he didn’t make more money during the war.

 (iv) He wants to go back to work in the factory.

2. Joe Keller says that Steve Deever is “a little man.” Give ONE example that Joe gives to prove this. (5 points)

3. Kate says about George: “All these years he never even sent a postcard to Steve… Suddenly he takes an airplane from New York to see him.” What is she worried about? (10 points)

HOTS

1. Chris: “Tell me, George. What happened? The court record was good enough for you all these years, why isn’t it good now? Why did you believe it all these years?”  George: “Because you believed it… That’s the truth, Chris.”  What does the above quote tell us about the relationship between  Chris and George? (15 points)

ALTERNATIVE QUESTIONS

1. Keller: “A daughter is a daughter, and a father is a father.”

1. What does Keller mean by this? (7 points)

2. Compare this view to that of George and Ann towards their father,   (8 points)





Summer 2013 F Exam
BRIDGING

1. When the play All My Sons first opened after World War II in 1947, Americans admired the returning soldiers as heroes. There were also feelings of anger towards the civilian businessmen who had profited from the war effort. The businessmen themselves had deep feelings of guilt, especially the ones whose sons had fought and died during the war. Make a connection between the above description and the play. Give information from the play to support your answer.





Winter 2013 F Exam
 LOTS

1. In Act I Chris says to Keller, “We’ve made a terrible mistake with Mother” because he thinks that (–).(5 points)

i) they shouldn’t have planted the tree in the yard

ii) they shouldn’t have let her talk to the neighbors

          iii) they shouldn’t have let her believe Larry is alive

iv) they shouldn’t have let her think Steve was guilty

1. “Keller: Say, I ain’t got time to get sick. Mother: He hasn’t been laid up in fifteen years.  Keller: Except my flu during the war.  Mother: Huhh?”  What effect does this dialogue have on George? (5 points)

2. At the beginning of Act II Sue complains to Ann about Chris’s “phoney idealism”. What does she mean by this? Support your answer with information from the play. (10 points)

 HOTS

 In Act I Keller says to Chris, “I want a new sign over the plant – Christopher Keller, Incorporated.” Chris answers, “J.O. Keller is  good enough.”  Why doesn’t Chris want his name on the business? Support your answer  with information from the play.

 ALTERNATIVE QUESTIONS

1. In Act III Keller says to Mother: “I’m askin’ you. What am I, a stranger? I thought I had a family here. What happened to my family?”

1. Why does Joe feel this way? (7 points)

2. Compare and contrast Joe’s view of family before and after he hears the contents of Larry’s letter. Support your answer with information from  the play. (8 points)





Moed Bet 2012 F Exam

 LOTS

1. Why does Mother [Kate] want Frank to make up Larry’s horoscope in Act I? (5 points)

2. In Act III, Ann wants to make a deal with Mother [Kate]. What deal does she want to make? (5 points).

3. What does Joe Keller mean when he says “a father is a father”? (10 points)

HOTS

1. At the end of the play Joe says: “… if Larry was alive he wouldn’t act like this. He understood the way the world is made. He listened to me.”  How has Joe misunderstood Larry? Explain.

ALTERNATIVE QUESTIONS

1. In the middle of Act II, Keller, Chris and Ann discuss Steve. Keller: “… I like you and George to go to him in prison and tell him… ‘Dad, Joe wants to bring you into the  business when you get out.’  Ann: You’d have him as a partner?  Keller: No, no partner. A good job…”

1. Why does Joe say he wants to offer Steve a job when he gets out of jail? (7 points)

2. What other motive might Joe have that he does not admit to? (8 points)





Summer 2012 F Exam

 LOTS

1. Sue says she does not want Ann and Chris to live near them after they marry because (–). (5 points)

 (i) Chris and Jim have never been close friends

 (ii) Chris might influence Jim to go into research

(iii) she is jealous of their relationship

(iv) Ann’s father, Steve, is a criminal

2. Why were Joe and Steve put in jail? (5 points)

3. George arrives at the Keller home wearing his father’s hat. What is the significance of this? (10 points)

HOTS

1. Chris says in Act III: “The cats in the alley are practical, the bums who ran away when we were fighting were practical. Only the dead  ones weren’t practical.”  Can Chris be seen as a practical person? Explain. (15 points)

ALTERNATIVE QUESTIONS

1. Evaluate Ann’s character in light of her behavior in Act III. (15 points)





Winter 2012 F Exam

LOTS

1. Chris tells Joe that they made a terrible mistake with Mother by “being dishonest with her”. How have they been dishonest? (5 points)

2. George tells Chris: “When you make suckers out of people once, you shouldn’t try to do it twice.” What are the TWO times he is talking about? (5 points)

3. In Act III Jim says to Mother: “The compromise is always made.” According to the play, is compromise a necessary part of life? In your answer relate to ONE character in the play. (10 points)

HOTS

1. Kate: “There’s something bigger than the family to him.” Joe: “Nothing is bigger.” Give ONE example of how Chris’s behavior throughout the play reflects  his struggle with these different beliefs. (15 points)

ALTERNATIVE QUESTIONS

1. Compare and contrast the attitudes of George Deever and Joe Keller to George’s father, Steve. (15 points)





Moed Bet 2011 F Exam

LOTS

1.      Jim:”In a peculiar way, Frank is right – every man does have a star.  The star of one’s honesty. And you spend your life groping for it, but once it’s out it never lights again.”  What is Jim referring to in this quote? (5 points)
(i) How Chris will deal with his father’s crime.

 (ii) Chris’s worries about his mother.

 (iii) Chris’s decision to marry Ann.

 (iv) How Chris will react to Larry’s letter.

2.      Many characters do not tell the truth in this play. Mention ONE character who is lying and the lie he or she is telling. (5 points)

3.      This play shows the destructive effects of dishonesty. Discuss this statement in relation to one of the main characters in the play. (10 points)

HOTS

1.      Choose TWO characters with conflicting approaches to life. Describe  their approaches.

ALTERNATIVE QUESTIONS

1.      In the play several characters face a conflict in which they are forced to choose between loyalty to their families, on one hand, and to themselves or their principles, on the other hand.

a.      Show how this conflict is reflected in TWO characters in the play. (7 points)

b.      What are the similarities and/or differences in the ways these two  characters resolve their conflicts?





Summer 2011 F Exam

LOTS

1.      How does the family find out the truth about Larry’s death? (5 points)

2.      Why did Larry commit suicide? (5 points)

3.      Keller: “Sure, he was my son. But I think to him they were all my sons.”  What does Keller mean by this statement about Larry? (10 points)

HOTS

1.      “Like father like son” is a popular saying, which means that a son is often  similar to his father. Do you think this is true about Chris and his father?  Explain. (15 points)

ALTERNATIVE QUESTIONS

1.      Jim: “Money-money-money. You say it long enough it doesn’t mean anything.”  Discuss the role of money in the play from the perspective of TWO characters. (15 points)





Summer 2010 F Exam

LOTS

1.      How does the family find out the truth about Larry’s death? (5 points)

2.      Why did Larry commit suicide? (5 points)

3.      Keller: “Sure, he was my son. But I think to him they were all my sons.”  What does Keller mean by this statement about Larry? (10 points)

HOTS

1.      “Like father like son” is a popular saying, which means that a son is often similar to his father. Do you think this is true about Chris and his father? Explain. (15 points)

לשתף
